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SECTION I: Structure and Written Expression

PART A:

Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each sentence. Then
mark the correct choice on your answer sheet.

General Grant had General Lee ------—--=—-—----- him at Appomattox to sign the official surrender
of the Confederate forces.

1) met 2) to meet 3) meeting 4) meet

Nowadays, most Iranians don't seem to object ——— —- them by their first names.

1) for calling 2) that | call 3) that I am call 4) to my calling
Ancient civilizations such as Phoenicians and Mesopotamians -—--eeeeeeeeemeee- to trade goods
rather than use money.

1) use 2) used 3) was used 4)1s used

Only after food has been dried or canned ——-——-- be stored for later consumption.

1) should it 2) that it should 3) should 4y it should

Not until a monkey is several years old ~-------—vnnememnm- to exhibit signs of independence from its
mother.

1) and begin 2) it begins 3) does it begin 4) beginning

Almost everyone fails —=-eeeeeee his driver's test on the first try.

1) to pass 2) in passing 3) to have passed 4) passing

Since Elizabeth Barrett Browning's father never approved of -———-—--——-—— Robert Browning,
the couple eloped to Italy where they lived and wrote.

1) she to marry 2) her to marry 3) she marrying 4) her marrying

The Ford Theater where Lincoln was shot must ~=—meeerremieemee- G

1) be restoring 2) restored 3) restore 4) have been restored
The speaker i§ —----ssmemeeeeueeee,

1) very well acquainted with the subject
2) recognized as an authority who knows a great deal in terms of the subject
3) a person who has close awareness of the subject that he speaks about so much

4) someone who knows well enough

Several of these washers and dryers are out of order and ——-

1) need to be repairing
3) repairing is required of them

about the subject which has undertaken to do the speaking

2) need to be repaired
4) require that they be repaired

It costs about ninety thousand tumans to have a tooth -—————-——e—,
1) to fill 2) filling 3) filled 4) fill
The people of Western Canada have been considering --—-—-v-eeceeeeeae themselves from the rest of

the provinces.
1) separate 2) separated

To answer accurately is more important than —-—-———

1) finishing quickly
3) we finish quickly

3) separating 4) to separate

2) to finish quickly
4) a quick finish

Although one of his ships succeeded in sailing all the way back to Spain through the Cape of Good

Hope, Magellan never completed the
1) neither did most of his crew

3) most of his crew didn't too

The Internal Revenue Service makes
1) all people filing

3) the filing of all people

first circumvention of the world, and ~———ccaaeeee,
2) neither most of his crew did
4) most of his crew didn't also
————————— their tax forms before April 15 every year.
2) all people to file
4) all people file
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SECTION I: Structure and Written Expression
PART B:

Directions: Identify the underlined word or phrase (1), (2), (3) or (4) that must be changed in order
Jor the sentence to be correct. Then mark the correct choice on your answer sheet.

16. Some methods to prevent soil erosion are plowing parallel with the slopes of hills, to plant
1 2 3 4
trees on unproductive land, and rotating crops.

17.  In Europe as early as the twelfth century, young boys enjoyed to play football.

1 2 3 4

18. John Dewey thought that children will learn better through participating in experiences

rather than through listening to lectures. l ;

3 4

19.  The shore patrol has found the body of a man who they believe to be the missing marine

biologist. : ’ 3 :
20. The more the relative humidity reading rises, the worst the heat aflects us.

1 2 3 4

21. Historically there has been only two major factions in tie Republican Party—the liberals and
1 2 3 4
the conservatives.

22. According to the graduate catalog, student housing is more cheaper than housing off campus.
1 2 3 4

23.  Until recently, women were forbidden by law from owning property.

1 2 3 4
24.  Even a professional psychologist may have difficulty talking calm and logically about his own
1 2 3 4
problems.

o]
:Jl

It is extremely important for an engincer to know to use a computer.

1 2 3 4

SECTION II: Vocabulary
PART A:

Directions: Choose the word or phrase (1), (2), (3) or (4) that best replaces the underlined word in
the given sentence.

26. The inquiry took more than two hours.

1) deliberation 2) investigation 3) commentary 4) appraisal
27.  The club was dissolved after a few years.

1) disbanded 2) reestablished 3) perpetuated 4) assisted
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My colleague hasn't made any money on his invention.

1) anecdote 2) creation 3) fabrication 4) composition
The teacher studied the various aspects of the situation.

1) airs 2) facets 3) visages 4) poses

His friend bought his new coat on an impulse.

1) sale 2) a shopping trip 3)a whim 4) credit

The secretary disposed of the clutter on the desk.

1) discarded 2) filed 3) returned 4) disregarded
The problem was resolved at the meeting.

1) verified 2) brought up 3) debated 4) taken care of
The expelled students petitioned the dean.

1) dismissed 2) disposed 3) returned 4) rejected
Kimia was subjected to Parsa's cooking last night.

1) diverted 2) converted 3) exposed 4) opposed

Ali has a tendency to be introverted.

I) reserved 2) biased 3) haughty 4) devious

SECTION II: Vocabulary

PART B: Cloze Test

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Modern linguistics has been struggling with the problem of phonetic and phonological
transcription  since its (36) =~=—eseeemeeeemeneee, The International Phonetics Association was (37) -
smemmmeeeeeeeee in 1886 with the goal of (38) —s——eeeeeeeeeeeee for linguistics a worldwide
standard system for naming sounds. the International Phonetic Alphabet (1PA). (39) —===memeeemmn
--—-— 10 that universal standard language used in chemistry and physics since the mid-
nineteenth century to name the elements and their (40) ~——=—-———-. But linguists have long
resisted this standardization, especially for phonological transcription, much to the (41) —eemee
of students over the generations. There are many reasons for this (42) -—-—
The phonological transcription of a language is often driven by the desire to develop a pracucal
orthography, in which phonetic (43) ~——-smeeeeeeeeeew and  consistency take a back seat to case
of use. Also. phonological theorists since the beginning of that field have enjoved a love-hate
relationship with phonetics, (44) eeeememeeee the true nature of the connection between a
phoneme and its = various phonetic (45) —————— leading them o
(46) mmmmemem e the importance of consistency for phonological transcription across
languages, since cach language has its own unique phonological system.
This lack of consistency may be a little (47) -=-=--====-=—-— for the student at first. but we hope
that it will teach students to be careful, because the symbols used in phonological transcription
may sometimes be used in (48) - and even capricious ways. so that it is

important to pay close attention to the phonetic description that (49) ——--eeeeeeeeeeeee the
symbols at their introduction. Reading Bloomfield’s Menomini grammar without
knowing that U stands for schwa can (50) ==—mmmemmememmeeen serious misunderstanding.

[) completion 2) purpose 3) inception 4) intention

1) founded 2) discovered 3) constructed 4) depended

1) containing 2) withholding 3) restraining 4) providing

1) akin 2) as opposed 3) in contrast 4) dissimilar

1) situations 2) compounds 3) consumptions 4) productions

1) dismay 2) pleasure 3) relief 4) willingness



1) unanimity 2) concurrence 3) resistance 4) acceptance
1) accuracy 2) deformity 3) shortcoming 4) limitation

1) equalizing 2) objecting to 3) nullifying 4) arguing over
1) achievements 2) accomplishments  3) fulfillments 4) realizations
1) underline 2) emphasize 3) downplay 4) highlight

1) confusing 2) explainable 3) comprehensible 4) interrupting
1) logical 2) arbitrary 3) rational 4) inconstant

1) accompanies 2) opposes 3) challenges 4) denies

1) lead to 2) result from 3) occur due to 4) derive from

SECTION I1I: Reading Comprehension

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits each
space. Then mark the correct choice on your answer sheet.

PASSAGE ONE:

The UG revision alters the relative importance of the levels of adequaey. Explanatory adequacy
had seemed an optional extra only to be employed in the unlikely event that there were two
competing grammars that were descriptively adequate. As most energy went into the
descriptions themselves, there was seldom a straightforward choice between competing
grammars that needed to be resolved by this means: acquisition never had a real role in
deciding on the right linguistic theory. The current UG theory, however, integrates acquisition
with the description of grammar by making explanatory adequacy central; the description of
the grammar goes hand in hand with the explanation of how it is learnt. In principle any
principle or parameter that is proposed for the speaker's knowledge of syntax has to fit into an
account of acquisition. So all the technical apparatus of principles and parameters theory dealt
with in the last chapter from pro-drop to binding must be integrated with the theory of language
acquisition.

What would the possible topic be for the above passage?

1) Apparatus of Principles and Parameicrs Theory

2) Justification of Grammar in terms of Acquisition

3) Choice between Competing Descriptive Grammars

4) Importance of Levels ol Adequacy

One can infer from the passage that explanatory adequacy

1) plays an important role in the current UG theory

2) has an optional extra role in the current UG theory

3) enjoys a straightforward choice between competing grammars
4) justifies and describes the elements of all competing grammars
According to the passage, there was seldom a straightforward choice between competing
grammars that needed to be ~——--——-—oeeeee in generative grammar.
1) rejected in terms of L2 learning

2) chosen by means of descriptive adequacy

3) chosen by means of explanatory adequacy

4) assessed in terms of the poverty-of-the-stimulus argument
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That any principle or parameter put forward for the speaker's knowledge of syntax has to fit into
an account of acquisition means that ———————,

1) there is seldom an casy choice between competing grammars

2) acquisition can have a role in deciding on the right linguistic theory

3) any element in the grammar has to be justified in terms of acquisition

4) the description of the grammar goes hand in hand with how it is explained

The author finally concludes that the technical -----—=--ae--—— the theory of language acquisition.
1) matters in the speaker’s knowledge of syntax must fully explain

2) terms of principles and parameters theory must fully explain

3) issues in pro-drop parameter to binding theory must be coupled with

4) device of Chomsky's latest theory must be coupled with

PASSAGE TWO:

The most obvious differences between languages with regard to case phenomena are which
cases a language makes use of and which elements they go with. So, while English
distinguishes three cases (Nominative, Accusative, Genitive, and Dative) on its determiners,
adjectives and nouns, and Chinese distinguishes no cases on any of its elements. However.
these differences are obviously a matter of morphological case rather than abstract Case. As far
as the latter is concerned. all languages are very similar. In fact. the only differences inherent
Cases to their objects while others, such as English. have no verbs which assign inherent Case.
Another difference is between languages that allow exceptional Case marking structures and
those that do not. The former will obviously allow infinitival clauses with overt subject. In the
latter, these types of sentence will be impossible. However, again. it may be that this is not
caused by a parameter of the Case Theory. but is due to lexical differences in the relevant
languages. For now we can say that it boils down to differences in the types of complements
that certain verbs take.

What does the passage mainly discuss?

1) Differences between Languages 2) Abstract and Inherent Cases
3) Morphology and Inherent Case 4) Similarities among Languages
According to the passage, languages are similar in terms of
1) determiners, adjectives and nouns they use  2) morphological cases lhw make use of

3) the elements which cases go with 4) inherent cases they use

What does the latter in line 6 refer t0?

1) abstract case 2) exceptional case

3) morphological case 4) infinitival verb

One can infer from the passage that languages with ——eeeemeeeeeeen infinitival clauses with overt
subject.

1) pro-drop parameter obviously reject

2) pro-drop parameter obviously permit

3) exceptional Case marking evidently reject

4) exceptional Case marking evidently permit

The author finally concludes that case differences in the languages of the world -——-mmmmememmeem,
1) cannot be justified except in terms of a parameter of the Case Theory

2) may be explained on the bases of a parameter of the Case Theory

3) cannot be explained except in terms of lexical differences

4) may be justified in terms of lexical differences
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